2 weeks 3 days before 30 May

hat is the product o elg een and seven?

From seven hundred and seventy-seven subtract seventy-seven.

How much greater is 550 than 67 + 437

-

How many lots of 6 are in 4807

How many groups of 8 in four hundred and fifty?

Write in digits the total of nine hundred and one add ninety-one.

What must be added to 20 to make 2082

Take away four from the square root of eighty-one.

2.
B
4.
B
! 6.
19

What is the total of 18 x 4 and 16 x 57

10, Which is greater 420 = 7 or 560 = 87

11. How much more is 630 = 9 than 63 + 97

:'-:= 12. Round eight hundred and eighty-sight to the nearest ten.

13. The product of 19 and 7 is?

‘| 14. The sum of 21 and 89 equals?

15. If there are 30 balls in each of 10 baskets, how many balls

altogether if you multiply the total by 1007

| 16. What do you get if you combine the square root of 9 and the

sguare root of 257

21 17. Which number multiplied with fiself will equal 812

18. How many times will 8 go into 4007

19. What is the square root of 100?

"+ Rank your performance by circling the appropriate number:
I need to improve at
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(ow) 1 2 3 4 5 (high)

v 4 £
VT 2 | 1week 5 days before 24 Oct
VEl 31 2wesks 4 days zfter 9 June
8 4 | 5wasks 1 day after 6 June
v 25
5 1 week § days after 1 Apr
v
B 6 |3 weeks 2 days before 21 June
36 57 |2 weeks 5 days befors 14 May
v o9 18 | 1 waek 4 deys after 24 Dec
vV §d 9 | 2 wesks 2days aiter 16 Sept 3
VD 10 |3 weeks 2 days before 20 July
CHANGE T
100 450 + 9 Qa HOUR m£> &
“J
11 Va00 11 63C -9 11 4.17 pm :
12 V324 12| 540+9 12 9.28 am
13 Vida 13| 4806 112 11.04 pm
114 1.46 am :
14 v 81 14 240 = 6 -
15 712 pm
15 V121 15 540 = 6 (@
12 HOUR THME "
16 V361 16 560 +7 ;
116 2013 hours :
17 V169 17 280 -7 5
ns 1456 hours
18 V289 18 630+7 g 0641 hours
419 V196 19| 640-8 19 1028 hours
Vo35G 120 - _‘
S I R I
Score ........ sScorg ... L Score ...
| %" %l
Perceniage .... . Perceniage . ... _ .. Percentage . ... |
TIMETAKEN. .| TIME TAKEN . | TIME TAKEN
“SELF EVALUATION

' A
_ Areas Needing Improvement \;‘:@@

Quick Maths Tests

't 20. By how many is 467 greater than 787?

)

TEACHER'S EVALUATION &%
Strengths Shown In

.44‘" . , ¥’_‘7$5
3 How you can improve your work @ _
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% Name - Name ﬁ
oy g

ANBWER ANSWER
v v

1 120-100 = 184+17-11 = 1 2x3x2x2 = w1 Ifyu separate 20fr4 yu arle WI'[..
i 5 2y % . . . -
W2 280 - 100 = @2 115+11+12-5 = B 2 4XBx2x2 = i 2. How many chairs are in the room if they are stacked in
e i 4 groups, consisting of 4, 6, 8 and 97
7 3 220-100 = 3] 3+1049-3= 3] 6x6x2x2= | :
5 1 3. What do you get if you subtract 100 from 2307
4 121-100 = 44 11+5+11-10 = 4 8x1x2x2 = ; :
N 4. Add 18, 17 and 9 then minus 3.
160 - 100 = A 5| B+10+14-8 = a5 Tx0xix? = ; ,
° i o Rt 5. Subtract twenty-six and thirteen from forty.
6 180-100 = 61 6+14+8-13 = 6 1x2xix2 = ) 6. Multiply three, two and four
7 200 - 100 = | 74121812 2 ST Txaxexds 7. Which is greater 202 - 100 or 4 + 12 + 15 + 22
8 170 -100 = 8] 9+4+12-9= b Txbx2x2 = 8. Write the answerfor 5+ 5+ 9+ 9 + 10,
g 260 -100 = B 13+1+6-4= g Tx8x2x2 = 9. Whatis 100 - 277
10 180-100 = 10110+10+8-13 = 100 2x0x3x0 = 10. How many couniers are there if you have a group of 100 and
group of 167
11 130 -100 = 11| 8+10+13-8 = 11 2x2x3x2 =
i ig?
12 270 -100 = 12| 5+16+12-3 = 12 2x4x%3x2 = 11. The difterence between 50 and 124 is?
12. How many more are needed in daris to reach 200 if you have
13 111 -100 = 13 12+8+16-7 = 13 2xbx3x2 = a score of 72?7
14 240-100 = 14| 14+8413-10 = 14 2x8x4x2 = 13. If you have 5 oranges, 1 apple, 4 bananas and 3 pears there are ...
15 140-100 = 15| 11+6+10-2 15| 3x0x4x2 = pieces of fruit
14, What does 1100 + 28 squal?
16 230-100 = 16117 +4+11-11 = 16 3x2x4x2 =
15. Take away 100 metres from 140 meires.
17 250-100 = 17¢{12+11+15-9 = 17 3x4x5x2 =
16. What number do you get if you add 8, 10,13 and 87
18 160 -100 = 18115 +16+12-8 = 18 IX6x5x2 =
17. Puttogether 1 x6x2x2and2x3 x1x5.
19 202 -100 = 19 2+ 2+14-5= 19 Jx8xbx2 = -
18.4+4 + 3 + 4 is less than or greater than 20 + 3 + 87
101 -100 = 200 18+17+98-3 = 20 4x0x6x2 = B
\2¢ \20) 181 N xOx6x 18. Combine 0 +6 + 10 + 4 and 90 - 18 - 7.
Score ........ Score ........ Score ........ \20. Total 10 + 12 + 100 + 25. _ /
+) o] 0
Percentage ... %] percentage ... %] percentage ... i TEACHER'S EVALUATION & .
a1, A
TIME TAKEN. . . TIME TAKEN. . . TIME TAKEN. . . Strengths Shown [n @ < How you can improve your work \g?f
SELF EVALUATION

Rank your performance by circling the appropriate number:  (low) 1 2 3 4 5 (high)
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